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Commerce
Paper II

TSy

PrERIECTN |
Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : This paper contains Fifty (50) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

GOl : A TRAULThd THY U (50) gl TEd fonl STed. Uoieh TR g (2)

U SRd. @d U Wi

Which Principle of Management
emphasises replacement of ‘rule of

thumb’ method ?

(A) Administrative theory

(B) Decision theory

(C) Scientific management theory
(D) Contingency theory

In MBO, objects are determined
(A) Only by subordinate

(B) Only by top level officers

(C) By subordinate and top level

officers

(D) By external agency

SILATIATAIA hivd dxd ‘& 3

e Mo e 1o e | £ R
(A) TeTESE fogia

(B) fofarn faga

(C) weita e g

(D) sTRfeme fagia

MBO #e&, Sear et ammed 2
(A) T THIGR

(B) W 39 TRIHRI-AIGR

(C) T=Aw oMt S=a WerfuehraigR

(D) 9MeA WfaffeehmatermgR

[P.T.O.



4.

The principle of Unity of Command

implies ....cccceevveeeeeennne. .
(A) Unity of thought and action
(B) Unity among subordinate

(C) Instructions from  staff

authority
(D) Instructions from line authority

A formal organisation is one

where ......cccooveeeeeeiennnnn. .
(A) Authority is formalised

(B) Relationship between people

are well defined

(C) At every stage position,
responsibility, authority and

accountability are clearly

defined

(D) Authority and responsibility are

equated

MAY - 50216/I1—B

IS SE FHATSD qw@ EEHd hd —

(A) foaR 9 Hdt F= T

(B) TH TeRIHEA TehTcHa

(v [a o ~
(C) hHGRT FARESChST H

(D) SR

Sfoenier ween owft & WY —

(A) AR siro=Tehd

(B) KiHea Hoy gHfvea stead

(C) YA TS TSll, STeeedT,

oo

ATTRR 9 SATEST=AT NMEIEEN

SHATd

(D) ATTHR F FATIRT=-IT THIHT
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Leadership qualities are inborn.
This notion forms part of which of

the following ?

(A) The followership theory of
leadership

(B) The behavioural theory of
leadership

(C) The path goal theory of
leadership

(D) The great men theory of
leadership

Which is the first important factor

of any marketing mechanism ?
(A) Effectiveness

(B) Change

(C) Management

(D) Organization

The exchange value of product is

termed as .......cccoeeeeiiniiiennen. .
(A) Value

(B) Price

(C) Money

(D) Cash

MAY - 50216/I1—B

AU TS AFATd & heddl

Teleueh! S aTRe 3T ?

(A) “gaarn At fagm

(B) Sgmel vkl g

(C) gern &= unt fagid

(D) g HeMHa fagia

RIS SITSTRISOET Ufgell Hevar=l Heeh
Hivrr ?

(A) gRoTHSR R
(B) s&A
(C) HFEIUT

(D) g

(A) 91
(B) foma

(C) &

(D) =@
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10.

The product personality does not

include .......ccoceevieniiennnne .
(A) Product size

(B) Product price

(C) Product colour

(D) Product brand

................................ is one of the most

popular form of outdoor advertising.
(A) Newspaper

(B) Mail Advertising

(C) Posters

(D) Magazines

What is the important objective of

marketing research ?

(A) To improve the efficiency of

marketing system

(B)

To accept all risks

(C) To collect different information

(D) To work factually

10.

MAY - 50216/I1—B

JrET Ieqred
A GHEY BId A6

.............................

(A) IURATET 3AThR

(B) ScqreArT fohHd

(C) e T

(D) SR EUl

ey Sedaid & Toh gy HIeaH
e :

(A) IS
(B) 2urelt Shfeta
(OB ISEEED

(D) TadeIfeTe

faqum Oy A SfEs Sivg ?

(A) fagura sggwet=ar wTdamad

FHROT I

(B) Hd SIREHT ToehTol

(C) fafy= wifedt Tear L0l

-

(D) & T8 TG HL




12.

.......................... refers to the mix of
sources from which the long term
funds required by a business are

raised.

(A) Financial Management

(B) Capital Management

(C) Capital Structure

(D) Finance Structure

Low operating leverage and low
financial leverage indicates that the
company is not utilizing its ..............

effectively.

(A) Share Capital

(B) Debt Capital

(C) Retained Earnings

(D) Fixed Assets

12.
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SUAHHI=A] HIARHeh G'\Ibiqolcdr\ld

feft ffHd=n e e gefe.

(A) T eearaH

(B) Wiedd oL

(C) Hread =

(D) foa

HH HHS ToTogdst amfor et faxia

o ~ L
feTegdst € HUAT=A

FHIEFTHAIT IR Bd el 3 gIiad.

(A) 4MT 9Ead

(B) &l Wread

(C) Ted 3ca—

(D) TEeR HreH
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13.

14.

A plant would cost ¥ 1,00,000 and
would fetch ¥ 30,000 in first year,
¥ 30,000 in second year, ¥ 40,000 in
third year and ¥ 40,000 in fourth
year. Hence, pay back period would

be :

(A) 3 years
(B) 4 years
(C) 2 years
(D) 1 year

When a company has surplus
resources but does not have
adequate liquidity then the company
and

capitalizes its reserves

distributes these reserves as :
(A) Equity Share

(B) Pref. Shares

(C) Bonus

(D) Debt

13.

14.
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% 1,00,000 Toruii= F=amult dfecan o,

% 30,000 &= %, T 30,000 fae=n

e, T 40,000 2TfOT e St ¥ 40,000

Zaeh 301 od 3TH o) Tl ShicTeet

(A) 3 o
(B) 4 98
(C) 2 =™

(D) 1 =

Siegl Shuihe T ST 3T8d I

T Tedl q9d, W TEie e

BUH fado e,
(A) FHYM

(B) 3tIgeh 4T

(C) oMY

(D) &l




15.

16.

Assuming that ‘Maxwell Co.” pays a
tax at 50%. Compute the after tax
cost of capital in case of perpetual
bond sold at par, coupon rate of

interest being 7%.

(A) 23.5%

(B) 14.5%

(C) 3.5%

D) 4.17%

Which one of the following is the

operational function of HRM ?

(A) Organising

(B) Planning

(C) Compensation

(D) Controlling

15.

16.
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Hoda 0 50% X *d Y TR

~ ¢

& HYY <Y fhAdE 7% =S 9

R S Toad I foshl haam=t o,

T FHYEAET Wedd ©9 < IR HA.

(A) 23.5%

(B) 14.5%

(C) 3.5%

(D) 4.17%

A a8 IR eAeTush! I

T FHEicHE hE e ?

(A) IEed

(B) fem

(C) THAFRITE

(D) =
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17.

18.

Close ended performance appraisal

system is used in ................... .

(A)

Government organisation and

public enterprises

(B)

Multinational organisations

(C)

Private organisations and

multinational organisation

(D) Co-operative organisations and

private organisation

From the following who did not make

any contribution to ‘motivation’ ?

(A) McGregor

(B) McCleland

(C) McFarland

(D) Maslow

17.

18.
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SfeE AR HATE

I IIAT ST

(A) GTHTT Feeqr orfor e st

e

(B) FEUSEA Ferel

(C) WIS Heredr for agarseia
e

(D) et geear efor we
e

‘HTHYTON’ BT WTeterieh! il

AR el @ ?

(A) HRIR

(B) Hergilels

(C) HFHIS

(D) WA
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19. The most common activities | 19 Wﬁﬁamﬁwhaﬁwww‘fa
erformed by HR which are
P y T Tfafaeiten] shioren nfafast sEid
outsourced :
HAMEhd qUf Shedl S| 2
(A) Occupational health, payroll,
(A) AEETHR ST, TR YRaehT,
pensions and training
Traiaas emfor wf¥rero
(B) Human Resource Planning
(C) Recruitment and Selection (B) AT TS
(D) Assessment Centre (C) Wl 9 ﬁga«‘-ﬁ
20. Worker’s Participation in (D) HTAHA s
Management means .................. . .
20. HEEATYATT ST T BUS - .
(A) Duty (A) Fd=
(B) Security (B) g{fm
(C) Employee involvement (C) ST FEUT
(D) Risk (D) e
11 [P.T.O.



21.

22.

The interest rate of Reserve Bank
of India charged to loans to

Commercial Banks known

asS ciiiiiiiiiinnnn .

(A) Bank Rate

(B) Credit Rate

(C) Repo Rate

(D) Prime Lending Rate

The important factor of increasing

non-performing assets of

Nationalised Banks is ...c.ceeueenne..... .

(A) Shortage of rain

(B) Political Interference

(C) Indebtness of farmer

(D) Inefficient management

21.

22.
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T g Sohehgd AT Shi<a

=N

ol SHRTATT A=A AT SRS

(A) o

(B) 9@ X

(C) ™

(D) T&F &N &

TSETIHa ARTAT STScAIGeh  HICTH

IGUATHST @ Heh

R,

(A) 3T

(B) USThT &89

(C) IRl shSteTSIRIgon

(D) SThTEeTH HIETIH
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23.

24.

The main function of National Bank

for Agriculture and Rural

Development is ...................... .

(A) To promote integrated rural

development and secure

prosperity of rural area

(B) To provide long term loan

(C) To refinance the rural bank

(D) To act as Apex Bank

Which of the following functions is

not performed by Private Banks ?

(A)

Providing loans to customer

23.

24.

MAY - 50216/I11—B
T FoT F UHO fahmd e T

(A) TehIfcHes TTHOT TRt emfor TrHior
& SchY et

(B) TTelehTci™ SheigRaal vl

(C) TTHU SehMT AfIqREal o

(D) RER 9% WA ®E HO

TICAAdeh! IV T TS dehThed
el S ARl ?

(A) TEHHET &S QO
(B) We=t & et QU

(B) Providing loans to priority
sector (C) TTEH TARY IO
(C) Issuing cheque to customer D) Fsi=t et
(D) Recovery of loans NN
Y 25. S UgdH foxia giqydi= geisr-e
25. The system which convert Financial FUR B S g e R
Securities into electronic form is
R GIGE
called as ....cccoeeeeeeeeennnn. .
(A) Disinvestment (&) ﬁ I
(B) Re-investment (B) e
(C) Re-finance (C) gAfed
(D) De-materialisation D) V. FHIAEETH
13 [P.T.O.



26.

27.

28.

“Difference in factor endowments
explain international trade.” This
theory is given by :

(A) Leontief

(B) Bertil Ohlin

(C) J.S. Mill

(D) Haberler

Balance of trade is equal to :

(A) Total receipt on current account
minus total payments on capital

account
(B) Net balance on current account

(C) Net balance of merchandise

account

(D) Exports of visibles minus

imports of invisibles

International Finance Corporation

was established in :
(A) July 1956

(B) November, 1960
(C) March, 1947

(D) 1946

26.

27.

28.

MAY - 50216/I1—B

"I Tl SEfies SUTSHAdid
ARSI STAAET SATIR TSR]

(A) fasEm

(B) e 3Tl
(C) JA.wH. W

(D) TR

LY N
SIHRdlet Vs

(A) =e] WA TR WAt oS qieaa

AT TR <A

(B) =Te] Wicreiial fHede e

o~

EEC )

() arforsg Ara wId gl
Teh!

o ¢ a

(ld aSl HAGRHAHIATH

(D) SIIHTAT
ST

o (aV o

A< |

AT

ey el

(A) & 1956
(B) TegsR 1960
(C) wrE 1947

(D) 1946
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29.

30.

The important function of World
Trade Organisation (WTO) is :

(A) To promote international trade
and aid among all the countries

to promote economic growth

(B) To review and facilitate the
coordination of activities of the
other institutions, within the

U.N.

(C) To provide a machinery for

international consultancy

(D) To facilitate the
implementation and operation

of multilateral trade agreement

The trend in composition of India’s
exports has been a substantial

increase in importance of ........... .
(A) Agriculture and allied products
(B) Ores and minerals
(C) Petroleum products

(D) Manufactured goods

29.

30.

MAY - 50216/I1—B

FTAWSTT AR FeEAd &I

(A) i srfvyggiardt ¥d Semmed
AW MR A 7Ed AT

ERERE|

(B) 9.UA. Wefial §d woman sAreran
B0 9 I RwEHES guad

ey

(C) ARSI el HAHTSH F=Tun GReTo]

(D) IgUeld =ATIR IR THA-
SISO o ShTEaTe! |l STl ISt
I IO

el 39k Ioiq WRdre atd ==

(A) e o Al FerE S

(B) et @S

(C) TSl dage 3care]

(D) I=AAfHa AT
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31. A change in the exchange rate will

32.

change the amount of local currency
receivable on a bill denominated in
a foreign currency. The risk involved

is called :

(A) Import risk

(B) Foreign exchange risk

(C) Transaction risk

(D) Monetary risk

Computer system accessible to non-
specialists to assist in planning and

decision-making is called ............ .

(A) Disk operating system

(B) Expert system

(C) Management information

system

(D) Decision support system

31.

32.

MAY - 50216/I1—B

[ il

79 S Secfes TRehid Fai

i faoenr wenfaer I &hRA

THesaT™ T STHUR &b ¢

(A) 3T &R

(B) T I ©IehT

(C) <aod eht

(D) fo=ia emt

TR TR U VAT IR

e 9 fofagfshaa AeraYga g

JUlletral A/ —

(A) fewr s faem
(B) seqwe faeH

(C) HAstHe heivH faedH

(D) fedtsm o fam

16



MAY - 50216/I1—B

33. Finance Commission constituted by | 33 foxffg =it oo It Sl :

the .o, . . o

(A) T d& 31w sfean
(A) RBI

(B) ToeR{iel See o off% sfean
(B) SEBI

TR

(C) PNB () e
(D) President of India (D) SRAE o

34. What do you mean by Economic | 34. =7f¥e I =Sl & ?

Plan ? .

(A) T S
(A) Gandhian Plan

(B) T A
(B) National Plan

(C) v=aTftish s
(C) Five Years Plan
(D) Year Plan (D)

35. Medium, Small and Micro-Entre- | 35. H¥H, of&ld 9 {&H SESTeRiehed U™
preneurs contribute about ............ of AT W Y.
the GDP of country.

(A) 8%
(A) 8%
(B) 19%
(B) 19%
©) 35% (C) 35%
(D) 40% (D) 40%
17 [P.T.O.



36. The assets are classified as

37.

38.

current and fixed assets according

[ .

(A) Accounting Period Concept
(B) Business Entity Concept
(C) Going Concern Concept
(D) Cost Concept

For predicting financial distress, the
Z-score approach to ratio analysis is

developed by ....cccoeeeeeeeeeeenn... .
(A) J. Betty

(B) Altman

(C) Robert Anthony

(D) Cox

The partner who does not contribute

the capital, he is called ........... .
(A) Sleeping partner

(B) Nominal partner

(C) Secret partner

(D) Partner in profit only

37.

38.

MAY - 50216/I1—B

9 feurwTr  1em aﬁ?a EXI|

SIGIGE

(A) T HeTEe Feheu

(B) =HaE™ 31fdcd Hehod
(C) =Te] o™ HE Hheddl
(D) FF Hehoudl

o (al

ENIR

IS Teerd=n STeTS HIvaIe]

(D) =T

S UM’ Yieddr INEM <d A8l &

A) e 9rfier
(B) THAE 9R{IR
(C) Tfud e

(D) THIre HrfER

18



39.

40.

Profit prior to acquisition is credited
.................... in case of consolidation
of financial statement of holding

company and its subsidiary

company.
(A) Profit & Loss Account

(B) Profit & Loss Appropriation

Account
(C) Investment Account
(D) Capital Reserve Account

If profit-volume ratio is 60% for a
fixed cost of T 3,000 and profit of
% 3,000, the variable cost should

be i .
(A) % 3,000
(B) % 6,000
(C) % 10,000

(D) % 4,000

39.

40.
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YR TS d T ST THESes A=A

[N aY

IENIE|

USehTa TUhA[hi0 Shidl HUGH

(A) TH g dqR—T e

(B) w1 @ dier faf=m o

(C) TaaE N

(D) Hrsdct g e

S AR-THT YA § 60% A 9
feer afteqg © % 3,000 318 3101 TH
% 3,000 3Hd, W = qReA™
3T,

(A) % 3,000

(B) % 6,000

(C) T 10,000

(D) % 4,000

19
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41.

42.

Rightward shift of demand curve is

an example of :

(A) Contraction in demand

(B) Expansion in demand

(C) Increase in demand

(D) Decrease in demand

In the law of variable proportions,

when TP is maximum :

(A) MP is rising

(B) MP is falling

(C) MP is horizontal line

(D) MP is ‘O

41.

42.

MAY - 50216/I1—B

qroiiash SSaiehe kUl T 3ETEI0l

(A) TET=T Tehid

(B) #TTO=T ggt

(C) AN o1&

(D) AN o2

A JHTOTAT R Sieg] TRoT Scare

Held S 3TEd degl—

(A) HH= 3cEA ded 3Tdd

(B) HH ST S

(C) Ha1=a Scured fardis gHT=ay

9

(D) HM Scared ‘Y STEd
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43. Long run equilibrium under perfect | 43. E[Uf Wedie SEehela gaare ¢
competition 1is : (A) 7T = T = L
(A) Price = AR = MR (B) T = @
B) TR = TC
(B) (C) ¥iL.ul = H@.
(C) MR = MC .
(D) fpad = 9. = FuL = 9@, =
(D) Price = AR = MR = AC = MC Hr
44. Excess capacity exists under 44 SRR - Y
market :
(A) i wHi
(A) Perfect competition
(B) HhaRIgw Tl
(B) Monopolistic competition
(C) Monopoly (C) weH
(D) Oligopoly (D) AIERR
45. Marginal product is equal to : 45. U 39 T AT deR 3T :
(A) TP — AP = MP A) TS — 9% = 9%
(B) MP, = TP, — TP, (B) Hle, = Wy — Ty
(D) MP, = AP, — AP, D) g"]@q = ¥, - W4
21 [P.T.O.



46.

47.

Which of the following is not the part

of the subject matter of Business

Statistics ?

(A) Presentation of data

(B) Analysis of data

(C) Interpretation of data

(D) Appointment

Which formula is used for probable

error of correlation coefficient ?

l_ 2
(A) PE. = 0.6745 x Jﬁr
1 -2
1’2
(C) PE. = 0.7400 x m
1”2
D) PE. = 06740 x ——
( ) X \/ﬁ

46.

47.
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qEadst S a1 g A

TEERTERT e A ?

(A) 9T GedenTo

(B) 9= fogerso

(C) urEi= fd=m &0

(D) 9w
qEICTUeh! ShIT 3 ¢ HeHaH UMehTid
A TW TF 2

(A) P.E. (99=a W) = 0.6745

1 -2

N

(B) P.E. (V9= <o)

1l

<
»
3
o~
()

(C) P.E. (V9= <o)

1l

e
-3
o~
(o
(=

X N+ 100

2
(D) P.E. (S9757 a) = 0.6740 x rﬁ
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48.

49.

50.

Which one of the following is a
formula of Karl Pearson’s coefficient

of correlation ?
2 xy
\/szZyz
2 xy
2y2 )

(A r

T

B) r

2 Xy
>y
Zy2

C) r =

2 yx
Ly
2 +100

D) r

Statistical hypothesis is the
statement ..............coc .

(A) about the parameter
(B) about the data
(C) about the size of sample
(D) about the procedure
If
P(A) = 0.8, P(B) = 0.7,
P(A n B) = 0.6,
then PAA UB) = .ol .
(A) 1.50
(B) 0.56
(C) 0.06
(D) 0.90

48.

49.

50.

MAY - 50216/II—B
JEAdeh! IO G T RIG (AT
Hegay Uh B ?

(A) 2 xy
y = — /—
JExZzy?
2x
Jo? - =P
Zxy
C r =
(C) sz
Zyz
2 yx
7=
72 +100
TEANMSNE ieheqar w7
faam Bm.
N IEIEIENE!
(B) wTRIEEde
(C) THATAT SRR
) REIREEGIEIERE)
IS

P(A) = 0.8, P(B) = 0.7,
P(A n B) = 0.6,
TWRPAUB) = ..o .
(A) 1.50
(B) 0.56
(C) 0.06
(D) 0.90
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ROUGH WORK
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